How to use the standard calculator?
1. 
5    log    +/-    =    -0.699

2. 
5      +/-      SHIFT     10x     =    1.-05	or
1       EXP       5       +/-      =     1.-05

3.                        
3         [(---     5      ×     6      ---)]     =    0.1

4.                        
4    .    2    EXP    +/-    5    SHIFT    x1/y    3    =    0.03476

5.                     
2       x2     −     [(---    4     ×     2    .    1      ×    2     .    3    EXP    -    2     ---)]      =      3.8068
SHIFT             =   1.9511 

